
 

 

Answer on Question #56572 – Math – Algebra 

find the roots of the quadratic equation using factorisation method :- 2x^2-2 root2 x +1  

 

Solution 

−2𝑥2 − 2√2𝑥 + 1 = −2(𝑥2 + √2𝑥 −
1

2
) = −2(𝑥2 + 2

√2

2
𝑥 +

1

2
− 1) = −2((𝑥 +

√2

2
)

2

− 1)

= −2(𝑥 +
√2

2
+ 1) (𝑥 +

√2

2
− 1) 

Hence, roots are    −
√2

2
− 1  and   −

√2

2
+ 1. 

We used the following formulas: 

(𝑎 + 𝑏)2 = 𝑎2 + 2𝑎𝑏 + 𝑏2,  

 𝑐2 − 𝑑2 = (𝑐 − 𝑑)(𝑐 + 𝑑),  

where 𝑎 = 𝑥, 𝑏 =
√2

2
, 𝑐 = 𝑥 +

√2

2
, 𝑑 = 1. 

Answer: −
√2

2
− 1  and   −

√2

2
+ 1. 
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